do

mains:

L

inetdomain: routedomain: unixdomain:
domain{} > domain{} domain{}
| | | radix_node{}
(left end)
ip_protox[]: inetswl[]: routesw/[]: unixswl]: 25
0 B protosw{} [IP left| radix_node{}
1 4 protosw{} |UDP I~ (bit32) ]
2 5 T protosw{} TCP
3 \\ protosw{} IP (raw) radix_node({}
\ ~——/—» protosw{} |ICMP (right end)
6 2 - ——/—» protosw{} IGMP
3 protosw{} |IP (raw)
17 1 - rtentry{} rtentry{} rtentry{}
3 radix_node{} radix_node{} radix_node{}
rn_key = rn_key = rn_key =
255 3 140.252.13.32 140.252.13.33 128.32.33.5
radix_node{} radix_node{} radix_node{}
(bit 33) (bit 63) (bit 36)
ipg{}
ipg: rt_gwroute rt_gwroute -rt_gwroute
rt_llinfo rt_1linfo 1\ rt_1linfo
. . fb rt_gateway rt_gateway fb rt_gateway
ipasfrag{} ipasfrag{} rt_flags rt_flags rt_flags
rt_ifp rrt_ifp rt_ifp
rt_ifa rt_ifa rt_ifa
ipasfrag{}‘_%ipasfrag{)l
‘ ‘ rt_metrics{} rt_metrics{} rt_metrics{}
ifqueue({} mbuf {} mbuf {}
ipintrg: head 1, sockaddr_ dl{} sockaddr_dl{} sockaddr_in{}
tail ] I ‘> AF_LINK ‘> AF_LINK k’AFfINET
IFT _ETHER IFT _ETHER 140.252.13.33
sdl_alen=20 sdl_alen=6
8:0:20:3:f6:42
mbuf {} mbuf {} mbuf {}
o S+
-
ifqueue{} mbuf {} llinfo_arp{} llinfo_arp{}
arpintrqg: head > llinfo_arp:| la_next la_next ——
tail - la_prev la_prev e
la_rt <j mbuf {}
la_hold D
la_asked
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S ]
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right

mask_rnhead:

ra
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radix_node{}
rn_key =
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radix_node{}
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rt_gwroute
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rt_gateway

rt_flags

rt_ifp
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rt_metrics{}

sockaddr_ dl{}

AF_LINK
IFT_ETHER
sdl_alen=6
0:0:c0:c2:9b:26

llinfo_arp{}

la_next —
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iii

la_rt

L]

la_hold

la_asked

radix_node({}

radix_node({}

radix_node({}

rtentry{}

radix_node{}
rn_key =
140.252.13.35

radix_node{}

(bit 62)

rt_gwroute

rt_1linfo

[’

rt_gateway

rt_flags

rt_ifp E

rt_ifa

rt_metrics{}

sockaddr dl{}

AF_LINK

IFT _ETHER
sdl_alen=6
0:0:c0:6f:2d:40

llinfo_arp{}

la_next
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la_hold
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